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(1TEEs) R2 R3 R4 R5 R6
SEREHOLLH) 65 (40) 99 (51) 91 (50) 56 (26) 110 (55)
EHSBREDDS 61.5% 51.5% 54.9% 46.4% 50.0%
RERABHOLXRM) 15 (11) 21 (10) 18 (10) 24 (12) 12 (10)
ZHRAEDEE 73.3% 47.6% 55.6% 50.0% 83.3%
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SZEREHOLLMH) 7 (0) 12 (2) 11 (1) 6 (2) 3(1)
ZHSBREDET S 0.0% 16.7% 9.1% 33.3% 33.3%
EREHOLXM) 3 (0) 2 (1) 4 (0) 4 (1) 1(1)
ZHERAZEDEE 0.0% 50.0% 0.0% 25.0% 100.0%
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ZHSZEBREDE S| 100.0% 100.0% 100.0% 100.0% 62.5%
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SZEREHOLLMH) 34 (27) 21 (14) 20 (16) 44 (36) 34 (29)
ZHSBREDE S 79.4% 66.7% 80.0% 81.8% 85.3%
EREHOLXM) 26 (21) 17 (13) 16 (14) 36 (29) 29 (25)
THIEAEDIS 80.8% 76.5% 87.5% 80.6% 86.2%
[Z ] R2 R3 R4 R5 R6
ZREBOLLM) 15 (12) 4 (4) 9 (8) 1(1) 24 (23)
ZHEZEBREDIE 80.0% 100.0% 88.9% 100.0% 95.8%
EREHOLXM) 3 (3) 1(1) 1(1) 0 (0) 3 (3)
ZHEAEDRS]  100.0% 100.0% 100.0% - 100.0%
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H31.4.1 R2.4.1 R3.4.1 R4.4.1 R5.4.1 R6.4.1
2% 614 623 623 618 630 639
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B4R E 369 362 356 351 356 350
ZHEEDEHDES] 39.9% 41.9% 42.9% 43.2% 43.5% 45.2%
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